

1

$$1) \text{ } \mathbb{D}f = \{x \in \mathbb{R}, |x| \leq 3\}$$

$$f(x) = 2x \cdot \sqrt{9-x^2}$$

$$P_f(0|0)$$

Punktgeraden:

$$f(x) = -f(-x)$$

$$2x\sqrt{9-x^2} = -(2 \cdot (-x) \cdot \sqrt{9-(-x)^2})$$

$$-|| = 2x\sqrt{9-x^2} \quad \text{wahr}$$

2) Nullstelle:

$$0 = 2x \cdot \sqrt{9-x^2}$$

$$x_0 = 0$$

$$x_0 = 3, x_0 = -3$$

3) Umkehrfunktion: keine

4) lokale Extremwerte:

$$f'(x) = 2 \cdot \sqrt{9-x^2} + 2x \cdot \frac{2x}{2\sqrt{9-x^2}}$$

$$= \frac{2(9-x^2) - 2x^2}{\sqrt{9-x^2}}$$

$$= \frac{18-4x^2}{\sqrt{9-x^2}}$$

$$\text{S.u.B.: } 0 = 18-4x^2 \quad \sqrt{4 \cdot 5} \cdot x_1 = \sqrt{4 \cdot 5} \cdot x_2 = -\sqrt{4 \cdot 5}$$

$$f''(x) = -\frac{4x \cdot \sqrt{9-x^2} - (18-4x^2) \cdot \frac{-2x}{2\sqrt{9-x^2}}}{x^2}$$

$$= \frac{-4x \cdot \sqrt{9-x^2} + (18-4x^2) \cdot \frac{x}{\sqrt{9-x^2}}}{(9-x^2)}$$

$$9-x^2$$

$$4x^3 - 54x$$

$$\frac{1}{(9-x^2)^3}$$



zu 4:

S. u. h. B.

$$f''(\sqrt{4,5}) = \frac{4 \cdot (\sqrt{4,5})^3 - 54 \cdot \sqrt{4,5}}{\sqrt{(9 - (\sqrt{4,5})^2)^3}}$$

$$= \frac{18 \cdot \sqrt{4,5} - 54 \cdot \sqrt{4,5}}{\sqrt{(9 - 4,5)^3}}$$

$$= \frac{-36 \cdot \sqrt{4,5}}{\sqrt{(4,5)^3}} = \underline{\underline{-8 < 0}}$$

↘ Max. ↘  $P_H(2,12|9)$

$$f''(\sqrt{4,5}) = 8 > 0 \text{ (aufgrund Symm.)}$$

↘ Min ↘  $P_T(-2,12|-9)$

5) Wendepunkte:

$$f'''(x) = \frac{4x^3 - 54x}{\sqrt{(9-x^2)^3}}$$

S. u. h. B:

$$0 = 4x^3 - 54x$$

$$0 = x(4x^2 - 54)$$

$$\underline{\underline{x_{w1} = 0}}$$

$$x_{w2,3} = \pm \sqrt{13,5}$$

↳ entfallen wg. DB!

S. u. h. B

Monotonie:

$$J[-2|0]: f'(x) = \frac{x(4x^2 - 54)}{\sqrt{(9-x^2)^3}} = \frac{(-) \cdot (-)}{(+)} > 0$$

↳ mon. wachend

$$J[0|2]: f'(x) = \frac{(+)(-)}{(+)} < 0$$

↳ mon. fallend

↳ Monotoniewechsel! ↘  $f'$  hat hier Exp.

↳  $f$  hat hier WVP!



6) Verhalten  $x \rightarrow \pm \infty$ :  
entfällt!

7) Graph:

